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i 1. The Question Booklet containing 50 questions and the OMR answer sheet is given to you.~ .

l2. All questions are compulsory, each question carries one mark.
~, .
i3. During the examination,
\C\

~ • Read the questions carefully ..,
'" • Completely darken/shade the relevant oval against Question No. in ,the OMR answer sheet,

using blue/black ball point pen. 00 not try to alter the entry and not to do any stray marks on
OMR Sheet.

• Ex: In a question paper if No.3 is the correct answer for Questioo No. 20, then darken in OMR
answer sheet shade circle 3 using blue/black ball point pen as follows.
20 .. CD (g) • @) (This is an example only)

4. If morethan one oval is darkened for a given question, such answer is treated as wrong and no '
marks will be given.

5. The candidate and Room Supervisor should sign in the OMR sheet.

b. 6. Candidate should return the OMR answer sheet only to the room supervisor before leaving the
examination hall.

o
~ 7. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

8. English version cif the question paper will be considered as final, in case of any dispute arising
out of variation in translation version ..
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GENERAL MENTAL ABILITY TEST

;m,~~t5 ~~5 ;m,~~F" ~ae~

" ." .?. "

4)3)

(~~ii~;b : 1 - 5)

~z.5~ii~J: '6JCJWd,)cs c:jojJC)FcxDrI~od
'eJ

~OoiBd ero~d~~c{ eOAi, '61?Jl'\c;5 ~O~/
e;)Ed /pj~9 ~~~r\I?J~c{ ~fC)Ft\rc)~ ~.

3

; 1) K

2) I

3) H

4) J .'

2. ~,~,.!, 1, 5, 30, 1
24 12 4

1) 150

2) 180

p3) 210

4) 240

3. Z, V, W, U, R, 0, 1, G, 8

2)

4.

(Questions :1 - 5)

Directions: Complete the following number/
letter/figural series by choosing the correct
answer from the given alternatives.

t,\ f "\ .\
\ ~ -I. ;-, ~ '\ VJ \'.\ ~- '.8) 1, 4, 5, 10, 17, 28, 53, 1, 1

1) 58, 64

2) 64, 93

3) 78, 118

4) 82, 161
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6. Direction.: Choose and substitute the
correct set of signs. in place of *
sequentially, selecting from the given
alternatives to make the equation
meaningful. '

(~WJ. : 6)

, 6. ~ z..5~ : 5J"VW t"b c;:5 ~ ;):) (' ~ d ro c;:5c:beJ ~
e:9q) F ~fCl ro F c;:5~ ~ (')) • 5J"VeJ t"b c;:5

d

~c;:5 (j05,r\~ r\fC)c:5ci") , * ~r\d()
q . q M

Sc;:5J~l\ ~d(,8;j2-3t?tb CJJOw,)dGbcl..

~rox)FCAtr\~od ~ah

8. J
t
F
\
t
~
E
tl

~
S

(Ques

A-'

4)
o

1)

(Question: 6)

1) +, x, -;-, =, -

2) '-, -;-, x, +, =

3) =, x, -;-, +, -

,4) =, -;-, x, -, +

(Question: 7) .

7.. Direction : When the signs are changed
as shown below, which one of the given
equations will be correct?

-to x

x to ==

=to+

+to -;-

-;-to-

, (~~cl..: 7)
7. ~z..5~ 5~ti ;:;irC)(j~ctcj b('0o:b(). M

z;305clr\~ ~cl.. t) d() Al~rl ~~.Fi)c;:5 ()jJuc;:)

rJ~e~dro~ rJaoiBl1m~d ?
. ,- ~cl.. x ti

x ~cl.. == ti
== ~ + ti~
+ ~cl.. -;- n
-;- ~cl - ti

4

(Quest
Directi
the mis
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',)

F

E

B

4)

c
F

o
3)

49

a ~~ ~~~~~oi>J ;fj~ A OOJod ~d~
ZJ U <tl

~~~ lJ~~O t50~ ;fj~ B n ~~~~~.
l1 M <tl -Jl

~~od ~eldJ~u~~ ~dJl\ ~eJ C rr
~~~~~. ~o~d e:5~ecm lJ~n ~cbll
~~' D cm~~~~~ ~~od~~~
tJ~~O t50~ ;fj~ E rl ~~ctb~~. ~Ood

l1 M <tl -Jl M

eJ\)~d lJ~n ~cbl\ ~t!rl ~~ F 3~~dd
~. ~~ll~ cm~ ~s~~~~t50~d
~~~~ ~~~3cl ~'tI ~ -Jl'

B A

T

A

(~~~i1~J: 9 - 10)

~t5~i1~'b : ,~~ c:JNUjJd~ ~~ ~~f\dJc.j
~~dr\~0tJ. ,~~mc.j ~~J.r\~ii .~0tfJUdwun
50<:;5.)&~~e.

c

5 lx. (;;

?

36 46

A

1) 96 -- 24 + 36 = 48 x 84 -:- 12

2)96 + 24 - 36 -:- 48 x 84 = 12

3) 96 + 24 - 36= 48 -:- 84 x 12

4) 96 - 24 + 36 x 48 -:- 84 = 12

(~j~ : 8)

c

51

2)

": L
(

&-?~r:? (~ 6 0 38

~? (, F \i ? rff;- 46

(0'

o

F

I ,/

/{
1 i

8. A stude,nt starts from a place A
towards East and reaches place B.
From there he turns towards South-
West and reaches place C. He then
turns towards South-East and reaches
place D. From there he turns towards
East and reaches a place E. ' He then
turns towards North and finally reaches
,place F.Which of the following figures
shows his 'movement?

(Question: 8) "

A

c

,(Questions': 9- 10)
Directions: In the ,following questionsJind

, the missing letters in the given pattern:
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9. -Find the missing letter in the tllird
column.

1}V

2) S

3) P

4) M

9. ~d~~ :10~~~t:J~ ~~1\dJ~
e.:9td~~~ ~o~&.~~O.

(Questi

13. A
fa

a

10. Find the missing letters in the second.
row.

10.~d~~OSJ ~r:)~~ t:J~ a5~~1\dJrj
e.:9~d~~~~ ~o~&.~~C).

b

c

Directions: A problem figure is given at the
left side. Find its correct mirror image from the
alternatives. .

(Questions: 11 - 12)

1) 0, H

2) R,I

3) U,M

4) V, N

(~~~~~J :11 - 12)
~t5~n~,): w~2pU7k)~ Zvod) ~~~23~;;:)(-i)cl.

~wd. e:9ddiJoo:iJi)d d~FfC) ~tJ02J;;:)(-i),~ .~. ~
~oj:n)Fo:Dr\~od 50<:@&:>~oJJa.

d

If the p
the diff

(Quest

Directil
letter / f
answer

4).3)2)1)

11.

12.

1) 2) 3) 4)

6
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(Question: 13)

13. A, 8, C, 0 and E are the members of a
family. '

I 1111111III1I! 11111I!lilllIII 111/11111111III/
(~~<{ : 13)

13. A, 8, C, 0 ~~ E ~c;:kbi1~J ~O~
..J)

tb~oCJd ~d~<5cb.

wd~d~t:3.

C ~ -0 l\o~ 8 cj~r M~cj~.
. ~

E <m ~l\cd cjoflm 10 cj~r~dO 8 ~~
N ..J)

D n~ :;j<ili~cd ~o~dcj~~ 50~&>~~a.

1) 48 c::5~Fr\~')

2) 41 ~~Fr\~')

3) 31 c::5~Fr\~')

4) 28 c::5~Fr\%b

(~iBi'i~J : 14- 18)
~~~t1eJJ : '6J2JWo,)c::5 c;joj~Foj')r\~odeJ '

. ;;J0()j}()d w;:5dc::5~, t5aN, ~Wcbc::5 ;;JO~( /
J) "I. eJ (.J

. eSd/zJ~1~~c::b6~r\~_~J.~rC:iFM~N.

I 1 .
a) The p~esent age of A is 1- times

2 ,
. f-

that of B. , \;'7
1).\,/. b)
\ ' /'.r i

0\..;/ ,,\)
'),. J\. eL,
l \..7. \.': ..

r- . //'" '. i

f \ ~ c)"•.../ \ ..
/1

c) Cis 8 }fears older than D.

b) 8 is tW,ice the age of C.

1 .
d) D is 1i times the age of E.

\ ...../\
, '0 \

If the present ag~ of E is 10 years, then'/find
the difference be,tween the ages of Band D.

1) 48 year~

2) 41 years

3) 31 years

4) 28 years

. -

(Questions: 14 - ~8)

Directions : Com~lete the given number I
letter I figure analogy by choosing thecorreet .
answer from the ,given alternatives ..

)

{:..., '.--~

.14. 441 : 7 : : 576 : ?

1) 6

2) 8

3) 12 -,--'---~'

7/1,' .,. _.~,

r ."~

4) 14 ..-,-
Le,

.- ./

\ ..'

'-;..-
.:.•..--
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16. V 8 R M T H : E 0 I Z G U : : P F X l W A : ?
1) K S C YON
2) K S X C W N
3) K Fey W Z
4) K F xeD Z

20. I
1

19. t
~

(Ques

Direct
geomE
marktl

73 57 93
15. 67: 55:: 87 :?

47
1) 53

53
2) 57

63
3) 61

73
4) 71

17.
••
II :: ~

••
•• ? <
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(Questions: 19 - 21)
I

Directions: Identify the number of specified
geometric shapes in the given diagrams and
mark the correct answers.

19. How many triangles are there in the
given figure?

,

20. How many quadrilaterals are ,there in
the given figure?

21., How many s~nlicircles are there in the
'giv~n figure,?

9

111111111111111111111111111111111111111111111

(~Wc(ii~vb: 19 - 21)
~t5c3n~;b : =a~11 fu~Wcbcj 2,j;3~~~ ~23~

eJ :::2 I M

~tlCJ)~cili en~~rI~ ;j02DDcm~~ nO~Co~d;)
ero~dcj~~ rbcb~,2,). '

19. ~~cb~ t.3~~~ ~~ ~~~i1~c:3 ?

1) 15

2) 14

3) 13

4) 11

1) 7

2) 8

3) 9

.4) 10

1) 16

'2) 18

3) 20

4) 24
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(Question: 22)

22. Direction : Find the missing number in
the .following pattern of numbers.

111111111111111111111111111111111111111111111

(~~~ : 22)

22. ~~c:3: ffi 5~n M~ct~ AlO~<s -

2:S:Jt)deoJ::J~ ~e.3::J a5JVerHj::J~
- M w

AlOW6oj)(i)J" 50~Co~CU)e.

GM)

(QUf

Dire
baSE

6' 16 15 10 7
-

4 7 13 12 11 - 2 8

3 8 20 ? 16 ,6 5

5 3 14 13 12 5 7

8 -, 17: 14 15 4
-

1) ,18 __

-2) 20

3) 22

4) 26

24.

1) S

2) T

3) U

4) P

(Question: 23)

23. P, 0, R,S, T and U are six brothers.
Q is younger than p., but elder than S.
T is elder than P. Rand Uare twins.
Pis elder than Rand Q IS younger than U.
Who is the eldest ? '" I •.-(

LS~~(~ L- \
,-.V
GI-

I
! •L,/

(~~~ : 23)_
23. P, 0, R, S, T ~~ UedJ ~o~

_ ...J) -

~edddJ.Q ~ P i\o~ ~~~_ - ~ M

~~~" edd ,S l\o~ M~~. T
'~ Pi\o~ ~~. R~~ U

~ ...J)

~~~ ~e~. P ~ R f\o;5
~~~ ~M Q~ Uf\o~
, ~ ' '"

~~~. ~mdO w~i\o~ ~~
~~ omt:b?~

25.

10
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(Questions: 124- 25)

Directions : ~Thefollowing questions are
based on the given intersecting figures.

1IIIIIIIIIII~mill/III BOlllllllft/lm
(~W.l~eob: 24 - 25)

~t5c:3n~ : ffi 5~l\~ 3~o(ii~ M~dJcj
~eE)~cj ~~6ii~~o( ~QaFJ;3.

IV

1) 9, 12

2) 3, 11

3) 3,13

4) 11, 1

J

~~~
N.M

,. T

U
. )~

I

24. Which pai~ of numbers given below
are inside any two figures only?

25. Which of the following number lies in
thefigures II, III and IV only?

,

1) 9

2) 5

3) 8

4) 10

11

24.~n ~~~ ~~ m~~ ~~~~
~~~ .~~ ~~~ ~.9 ~O ? .

•25. 5~n ~~dJ~ ~~ ~o~u~ ~~
.11,UI ~~ IVd~ ~~ ~d ?
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(Question: 26)
26. In which one of the alternative figures

all the given 'components in the
problem figure are found?

1111\11111111\ 111\1Il11111l\\ 11\ 1\11\ 111\ 111\

(~iilJ.: 26)

26. ~.~ ~om~cm~~d~ ~~J. ~~d~ .
M~~~ w~ ~rlrl~~ C(i,.~ '"'

GMAT

(Ouest
Directi
are fOL
three a
one wt

Problem
figure

II~O liN
mIl 0,' @ 00]0

(j a
1) 2)

IIAf IILltP
mIl@] \00 @

0 0
3) 4)

(Ques
Direct
in the I

31.

(~iilJ.: 27)
27. ~t3F3 : ~eJo;)cj 05e~5r\~ AJa IWOd;)

eJ
QU~AJ, o:ixlcj (0~Fcili~ ~-oF~~l'\
~d~c:::)):)6d IWOd;)(0dFa~.

/:.-1: . •

~e~~rl~J :
1. 5~~ ;;30d60;)~~6lPFr\~.
2. IW~ ~OU6LPFr\M ;:$:)a)(0eoj:)dJ.

Nro~~rl~~ :
,I. IW~ ;;3e)d6~ ;:$:)a)(0eoilm.
II. IW~ ;:$:)a)NeoilO;) ~~~lPFr\9~.

M (.) M

III. 5~~ ;:$:)~(0eoildJ ;;3e)d6dJ.
IV. IW~ ~wu6LPFr\9JC);;3e)d6dJ.

1) 5ecj~ (0~Foj.) I e3~AJa~6d~
2) 5ecj~ (0~Foj:) II e3~~a~6d ~
3) C0~Foj:)r\~1I ;jJ~ IIIe3~~am6j .

.J) .J)

4) C0~Foj:)r\9') I ~~ IVe3~AJam6;;j
.J) ~

(Question: 27)
27. Direction: Take the given statements as

true and decide which of the conclusions
logica,lIy follow from the statements.

Statements:~:~~:t:~~~:~~r:r~:~deots.e<5}
Conclusions: ( ! i\
I. All doctors are men. \;/! \"--'

. ~/ \

II. All men.are notstudents. \
III. Some men are doctors. '--/
IV. All students are doctors.

1) Only conclusion I follows

2) Only conclusion II follows

3,) Conclusions II and III follow

4) Conclusions I and IV follow
12



(Questions: 28 - 29)

Directions: In the following questions there
are four groups of numbers/letters of which
three are alik$ and one is different. Find the
one which isdJifferent.

11111111111111 GMAT(K-10)
111111111111111111111111111111111111111111111

. (~~c(n~'b ; 28 - 29)

~~c3n~;b: ~wm~ ~~~~ ~O~~/e:9~ii~
~~o)n~ N"U9 rbocmn~c::D~~~F3.~~7i~~
~Q) ZvO<::D e~~o:b~02JO~~~ cMO(JQ)~.

~ZvO<::D ~.9 ~~l\O. ~~l\d:l~~cJ. rbQ)~FJ.
28. 1) 121~ q4_. i 88

\ L, ~- (C:'

2) 169 I ~6 76
3) 19\5eis' 70

4) 225 16 60

]
I J~'s "'~::;
'/

29. 1) A S T E R 0 I 0

2) AQ U I FO R M

3) A V U LS ION

4) A R GUM E NT

(~~c(n~J : 30 ~ 31) .'

M~c:3n~ : ~~m~ ~~~n~~ ~~d ~O~i
z3~~~~ 50~&~~e.

-j,.~}~:', .,',/ f.. [Y
30. 768,96; 16,' 8; 2

1) 2,
2) 8
3)' 16
4) 96

(Questions: 30 - 31)
Directions : FirJd the wrong number/figure
in the given serirs.

~.

cmro.

31.
'ri~~.

M

A C 0 E~d 1) 8-D

2) C)~d
3) D.

-D

~em~@
4) E

-D

~em~cj
13

-D
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(Questions: 32 - 33)

Directions: Find the missing number in the
given matrices.

32. 112 16

117 14

143 12

7 256

? 182

11 156

IllImllllRlll1=IIIIII~III~IIIIIR
(~~l~~;b: 32 - 33)

~~~~: ~~c;S~~5ii~ ~~~hdJ~
~o~,p;i)cj:)J,.~o~&~()j)e.

1) 7
2) 8
3) 9
4) 11

GI

(0

(0

33. 9 27 162 1) 17 ':
"

13 39 234 2) 21
? ~- 51 '1(J306 3) 23

;

" 4) 31

Fi
th

,(0
\,4)3)2)

(~~etnej~: 34 - 35)

~~~n~: ~~mc;S e~~r\~~ ~~o5Jvehmcj
QUrlc;3~J,.ed~Fo::brl~od ~o~&~~e.

.1 )

34.

Directions : Find the missing part of the
given figure from the alternatives:

(Qu~stions : 34 - 35)

35.

$ee~
1) 2) 3) 4) (

14

.......- ...._.- ..-.-------1
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(Question: 36)

36. In a code if F H = 48 and K H = 88,
i .

then ~hecode for M G 8 is

111111111111111111111111 1IIIIIillllll illl/111

(~~~ :.36)

36. ~o~ ;!;jo~~d~d FH=48,~~ KH=8
~do, MG8 em ~o~~~~

4)3)
<-.0

1) 166

2) 178

3) 182

4) 192

(5W~ : 37)
37. ~~e:3: "A P 0 V G H N E HM"ffi moct>(\)

e:9~d7\~c;D~5~ii ~zjAldJc;3o~ e:9d~
ZJd~ ~t2d.

1 c3cm c;f)~ ~ c3cm~
2 r3cm c;f)~ 5 r3cm~
4 r3cm c;f)~ 7 r3cm~
6 r3cm c;f)~ 9 r3cm~
8 r3cm c;f)~ 10 r3cm~

~~ml\ d~~~m~ ~~di1~. mo~~~
~~Femi1~od 50~~~~5.

1) GNDAVPMEHR

2) 0 G A N P R V M H E

3) 0 NAG P V R H M E

4) VG N A 0 R P EM H

.(5W~i1~J: 38 - 39) , .

38. ij~~o~ ;JZJo41~rl. ~~~WJ.~. ij~rl
. ' . ~
~~m~ ~~ c:3~~S~ A, 8, C~~
o i1~l\m~ ~OZJo~~~~ ~~~~d ?
a) 'iJ~ C~ 8 n ;fj~5d.

, M

b) ,8 em ~~ ~i1 A n ~~5d.
c) c .~~ 8 n~ ~~. ~i1n~J 0 rl

~~5c:3.

2)1)

37. O\i~~.c~i~n(;L~.rW8,Up,ofletters,
"A P 0 V G,H N E RM" the order of the
letters lis interchanged as follows :

1sl and 3rd .

2nd and 5th

4th land ih
6th and 9th

8th and 10th

(Question :137)

i

Find the new group of letters formed from
the alternatives.

(Questions: 38 - 39)
, ,

38. Which one of the following Venn
""diagrams represents the relationship
.'among A, 8, C .and 0 under the
conditions given below:
a) All or C belongs to B. .
b) Some part of 8 belongs toA.
.c) Some parts of both C and 8belong

toO.

4)

4)
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39. In a high school the languages studied
by the students are as follows:

'a) 250 students study English

b) 180 students study Kannada

c) 160 students study Sanskrit

d) 100 students study both English,
and Kannada

e) 80 students study both English
and Sanskrit

Find the total number of students in
the high school.

111111111111111111111111111111111111111111111

39. tJoo,) ~~~dos,)~ ;Jmv~f";i~J
~~v<m~ ~~~ ~~rl~;b ~~~o~o~
~~.

a~ 250;)~~rn~ ~o~~ ~~dJ~ ~~

b) 180;)~v~f"rl~~~~~ ~~~~ ~dJ~dJ

c) 160;)~v~f"1~~ ;!jO~3~~~~ ~~~

'd) 100 ;)~v~f"rl~,) ~on~~ ~~ ~~i~
wd~~J. ~~vcm~ ~~~dJ .

e) 80 ;)~v~f"rl~~ ~on~~ ~~ ,~o~~~
. wd~~<>t ~~vcm~ ~~~dJ

~~~~~~dJ~ tJ~ ;)~v~f"rl~ ~o~v~~J.
~o~~~ro)O.

GM

(aL

Dirt
nun
'rela
the

41

1) 410

2) 400

3) 340. ::.

. 4) 330

42

(

(~;;BJ.: 40)

40. ~io~v :tJ~~d~oS~~~J. 2016d~ (QUI

~~~~de~O~m~~. ~mdo
2018d~ rl~~~V~~~7~J.~ ~ -~-~~.
e~o~~ro~~ ?

jl" I~f t'(\ ' I:;,

u ., :: ::~:d (
3) ~.s~d
4) ~CJC3t)d

f\J){~\ -c ), L '
\)

1) Tuesday

2) Thursday

3) Friday

4) Saturday

40. The Independence Day was
celebrated in the year 2016 on
Monday. On what" day in 2018 the
Republic Daywill be celebrated ?

(Question: 40)

Prob

16



0~4210
27 ? 23

~'~

"V/ 25"V'

Ilmll/IIIII: 0111111111001~IIIO1m
(S~i"~'b: 41 -42)
~~~i1~'b: ~ 5eJii 5.J;)~Q:)c:) ~~d.rleJ~
~tr0~rleJ~ ~mcj7S0~~7S02JO~J.

~oC)<;j. ~ 7S02JO~J. rbm~FJ ~~~rI~
2,J~ ~el1mcj ~9~ilrleJ~d. troro&~Qj.)a.

1) 400, 175

2) 300, 150

3) 200, 100
'<j;

4) 200, 80

1~3

~

(Questions: 41 - 42)

Directions: In the questions given below the
numbers in the figures are related. Identify their
relationship and ,find the missing numbers in
the giveR figures.

GMAT(K-10)\11111111111

~ctl~ ;

~~~,

~~~

, ~~J.r;!

4)3)2)
17

1) 4

2) 5

3) 6

4) 7

(~~~ : 43)

43. ~~~ : ~ 5eJl1c:j ~~J.o:l),~ ?Nod)
3~J.(j~c:)~J. ~~d. ffi .~~d.(j~~
~~c;:) mmF0:t .23~~~u otu~dfc)e
2vodd~ e:9~11(j. atuc;:)~Fcm z.j~
e<::b e:9~11(j' woeJ,x:)c:nd. trO~&~<ma.

1)

43. Direc . ri :In the following question a
problem . ure is given. The problem
figure is hid n in one of the figures 'given

, as alternative . Find the figure in which
I ,

the problem fig re is hidden ?

(Question: 43) ,

Problem figure
'-' dl '~0~"" 6.)0

W16d~
M

~m~o
. ~cj tJ~



48. [
n
b
n

GMA

(Quel

47.

(Ques
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1) 1,2 ; 3,4 ; 5,6
2) 1,3 ; 2,4 ; 5,6
3) 1,3 ; 2,5 ; 4,6
4) 1,6 ; 2j5 ; 4,3

5

45. Different faces of a cube are given
below. Identify the pairs of opposite
faces from the alternatives.

(Questions: 45 - 46)

(Question: 44) (~~<>t: 44)
Direction: In the following question, a set of ~t5c:S : '691'\(":)cd~oj:,~ Zvod:l :;:j02rri)
numbers is given. From the given alternatives, Al~o)~~~~~d. \d~~~e~~o3J
choose the setwhich is similar to the given set. :;:j02rri)6:;:j~o)~~~ ciJoimFo:br{~od e(Jf-J.

44. 169, 289, 361

1) 25, 49, 121

2) 49, 81, 225
3) 225,441.,.529

4) 441, 529, 625

(~~i"~J: 45 - 46)

45. ~ ~~i1wodJ cpi~d ~~~. ~~ii~~<>t
M~5~~. ~~OJ~ ~~f"cmii~od ~~~.
.~OJ~ ~~n~ ~~n~~<>t roOJ';~.

4 5

GMAT(K-10)

46. When the problem figure given at the
. left side is folded intoacube, which
.one of the cubes will, be formed ?
Identify from the ciiternaHves.

46. ~~~nd~ ~~OJ~~~<>t~~~~~ ~odl
. . ~~~.;omf\ ~~~~i1 om~ cpl~~

wo~nJ~~ ~oiJJd~J~~~~d::;<;j
~$f"~n~od roi:b';~...

4)3)2)1)

D
.

.,

.6 0
.

{> •e
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(~w~ : 47)

47. ~~c:3 :
A > 8 e:90dd A cxm B em 71005
A - 8 e:9odd A cxm 8 em ;;)o5Jvedd
A + 8 e:90dd A cxm 8 em 300
A x 8 e:9odd A cxm 8 em ~Q)J

\\\l\\ll\\\nl

~~n~~<>t
)OO~~ .

b~~.

GMAT(K-10)

(Question: '47)
. 1

47. Direction:
I .

A > 8 means "A is husband of 8"
A - 8nheans "A is brother of 8"
A + 8 rT)eans"A .is father of 8"
A x 8 means "A is mother of 8"

If P >Q1 X R + S, how is P related to S ?
Find the correct alternative.

1

1) P is father of S
!

2) P is grandfather of S

3) P is uncle of S

4) P is b1rother-in-law of S

P>Q xR+S~OO.
~o~oct~~J~ ~~~
50~&~~a.

1) P o::m S (d 30<:3

2) P o::m S (d ~3

3) P o::m S (d 2d~~

4) P o::m S c:3~cj

P z::b~ S n~
...D

~ojJ-d-~JO~

(Question: 48)

48. Direction I: In the given sequence how
many times an ODD number appears
between an ODD number and an EVENI

number?

, (~w~ : 48)

48. ~~c:3 :~eJd:lcj~er8(1)~ 2:3~~o~ofu
eJ....::.; M .~..

C0~ ~a ZvoQ) 2:3;;) ;;)0~6 c::t~ ZvOrD

~c::t ~O~<S ~~c:3 ~ctcj03 2JotJd ?

5 3 6 976 5 5 4 1 3 873 7 4 4 5
~~c{ Z-Jo~.

1) 6D~ cpl~~
5-RJe3 OJ~ . 2) 7e.3 .

3) 8

4) 9

4)

I

I

I

I

\

\

\

I
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(Question: 49)

49. Direction : A parallelogram is given
below. Among the choices given,
identify which set of p~rts of figure is
required to form the parallelogram.

IIIIIIIIIIII~ 111111111111111111liill i1~ liB

(~~<t : 49)
49.~a3c:3 : ffi ~~rl ZvodJ ~~c:wo~d ;

z33')~')Ft:S~~')« ~$)~d. ~o:b-l"{~~I
~~m~ 23~d QUnn~o:iJu~ nra~ ;
~~c:wo~d z3~~Ft:S~~cl. ~~eJ,)

e:9~~v~l\d wodJ mm.3AJ.

GMA"

Anila
gatee
direct

a) A
tc

I

b) K
til

Find
cove

c

1) A, 8, E, F
2) A, C, 0, F
3) A,B, C, E
4) A, B, 0, F

(Question: 50)

50. A rectangular park with area 120x80sq.m
has four gates A, B, C and 0 as shown
in the figure.

c

(~~..t : 50)
50. ~e,;l~o~ t3~d~ ~~a~dJ~o~ ~om

~o1J~~Cd ~ .:J~~r'120x 80t5.~~.~
~1\~ ~d~L A, B, C ~~ 0 WJ~Q v . ~ i:!-

rl~~rl~c:3. .

B 120 x 80 sq.m.

A
20
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GMAT(K-1d)

Anil and KirIn enter the park together from
gat~ C and s~art walking in the anticlockwise
direction. '

a) Ani! coh,pletes 3 rounds and in the
fourth r6und he exits from the gate A.

b) Kiran completes 4 rounds and in the
fifth round he exits from the gate D.

. I .

Find the difference between the distances
I .covered by Ithem.

1) 340 m
2) 400(n

3) 500 m

4) 560 m

1111111111111/1111111111 11111 III Ilill11111111
~N~ ~~ ~d~ ~ZJdnl ",eJi1 ~~n::s

-Jl W eJ
C i1eu~\ ~~e~~) n~~dd w~d tJ'O'Jo ~O"I. ~ 9 M

(~~dt~~l\) ~~~~ ~do~~~ .
a) ~Nt)~ 3 ~~n~~~~~~~~~

~t)~e ~~c:dO A i1eeJNod .tl-. -Jl M

Nnf'~~3C>N~
-Jl

b) ~d~~ 4 ~~n~~~~~~~~~
zodc:3e ::b~c:dO D i1eeJNod

-Jl M

Nnf'~;tt;~~.
-Jl

~~a~d~ ~ridd~dr(~ ~l5~l5~~~J~
5otWOo~~a.

1) 340 WJe.

2) 400WJe.

3) 500WJe.

4) 560 WJe.

~ ~o~
. : 80eac:De.
'D~~ :a

i ..
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